

# Coefficient Bounds for New Subclasses of Bi-Univalent Functions Associated With Pseudo-Starlike Functions

S.B. Joshi<sup>1</sup> and P.P. Yadav<sup>2</sup>

*Department of Mathematics,  
Walchand College of Engineering, Sangli, India.*

<sup>1</sup> *santosh.joshi@walchandsangli.ac.in*, <sup>2</sup> *ypradnya@rediffmail.com*

## Abstract

In the present investigation, we have introduced and studied two new subclasses of bi-univalent functions associated with pseudo-starlike functions in the disc  $|z| < 1$ . Furthermore, for these subclasses we find bounds on the initial coefficients  $|a_2|$  and  $|a_3|$ .

**Subject class:** 30C45, 30C50.

**Keywords:** analytic functions; univalent function; coefficient estimates; bi-univalent function; pseudo-starlike functions.

## 1 Introduction

Let  $\mathcal{A}$  denote the class of all functions analytic in the disc  $U = \{z \in \mathbb{C} : |z| < 1\}$ , normalized by the conditions  $f(0) = 0$  and  $f'(0) = 1$  and have the form :

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n.$$

We let  $\mathcal{S}$  denote the subclass of  $\mathcal{A}$  which consist of univalent functions in  $U$ . Also let  $\mathcal{S}^*(\alpha)$  and  $\mathcal{K}(\alpha)$  denote the well known classes of starlike and convex functions of order  $\alpha$  ( $0 \leq \alpha < 1$ ) respectively (for more details see [4]).

The Koebe one quarter theorem [4] asserts that the image of  $U$  under every univalent function  $f \in \mathcal{S}$  contains a disc of radius  $\frac{1}{4}$ . Thus every univalent function  $f \in \mathcal{S}$  has an in-

verse  $f^{-1}$ , defined by  $f^{-1}[f(z)] = z$ , ( $z \in U$ ) and  $f[f^{-1}(w)] = w$ ,  $\left(|w| < r_0(f); r_0(f) \geq \frac{1}{4}\right)$ .

It can also be easily verified that

$$(1.2) \quad g(w) := f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots$$

A function  $f \in \mathcal{A}$  is said to be bi-univalent if both  $f$  and  $f^{-1}$  are univalent in  $U$ . We denote the class of bi-univalent functions in  $U$  given by (1.1) by  $\Sigma$ , (for more details see [16]).

This class  $\Sigma$  was first investigated by Lewin [11] and showed that  $|a_2| < 1.51$ . Brannan and Clunie [2] improved Lewin's result and conjectured that  $|a_2| \leq \sqrt{2}$ . Also in [10], Kedzierawski proved this conjecture for the starlike functions. On the other hand

Netanyahu [14], showed that  $\max_{f \in \Sigma} |a_2| = \frac{4}{3}$ . Further, Tan [17] proved the pre-eminent estimate  $|a_2| \leq 1.485$  for functions in the class  $\Sigma$ . The coefficient estimate for each of the coefficients  $|a_n|$  ( $n \in \mathbb{N} \setminus \{1, 2\}$ ) for a subclass of  $\Sigma$  was given in 2013 by Jahangiri and Hamidi [7] using Faber polynomial expansions.

Brannan and Taha [3] introduced certain subclasses  $\mathcal{S}_\Sigma^*(\alpha)$  and  $\mathcal{K}_\Sigma(\alpha)$  of strongly bi-starlike and bi-convex functions of order  $\alpha$  respectively and found the bound on the initial coefficients  $|a_2|$  and  $|a_3|$  ( for details see [3]).

Recently, several researchers introduced and investigated the various subclasses of bi-univalent functions and found the bounds on the initial coefficients  $|a_2|$  and  $|a_3|$  (see [5], [6], [7], [9], [12], [8], [13], [16]). Also, Babalola [1] defined the class  $\mathfrak{L}_\lambda(\beta)$  of  $\lambda$ -pseudo starlike functions of order  $\beta$  and proved that all pseudo-starlike functions are Bazilevič of type  $\left(1 - \frac{1}{\lambda}\right)$ , order  $\beta^{\frac{1}{\lambda}}$  and univalent in  $U$ .

Motivated by aforementioned work, we introduce the subclasses  $B_\Sigma^\lambda(\alpha, \beta)$  and  $B_\Sigma(\lambda, \beta, \gamma)$  of  $\Sigma$  and found the bounds on the initial coefficients  $|a_2|$  and  $|a_3|$ . The techniques used are same as of Joshi *et al.*[8].

To establish our main results, we need the following Lemma.

**Lemma 1.1.** [15]. Let  $h \in \mathcal{P}$ , where  $\mathcal{P}$  is the family of all functions  $h$  analytic in  $U$  with  $\Re\{h(z)\} > 0$  and have the form  $h(z) = 1 + h_1z + h_2z^2 + h_3z^3 + \dots$  for  $z \in U$ . Then  $|h_n| \leq 2$  for each  $n \in \mathbb{N}$ .

## MAIN RESULTS

### 2 Coefficient estimates for the functions in the class $B_\Sigma^\lambda(\alpha, \beta)$

**Definition 2.1.** A function  $f$  given by (1.1) is in the class  $B_\Sigma^\lambda(\alpha, \beta)$  if it satisfies the following conditions :

$$f \in \Sigma ,$$

$$(2.1) \quad \left| \arg \left( \frac{z[f'(z)]^\lambda}{(1-\beta)f(z) + \beta z f'(z)} \right) \right| < \frac{\alpha\pi}{2} \quad (z \in U)$$

$$(2.2) \quad \text{and} \quad \left| \arg \left( \frac{w[g'(w)]^\lambda}{(1-\beta)g(w) + \beta w g'(w)} \right) \right| < \frac{\alpha\pi}{2} \quad (w \in U),$$

where  $0 < \alpha \leq 1$ ,  $0 \leq \beta < 1$ ,  $\lambda \geq 1$ ,  $g$  is extension of  $f^{-1}$  to  $U$  defined in (1.2).

Now we state and prove the following theorem.

**Theorem 2.1.** If  $f$  given by (1.1) is in the class  $B_\Sigma^\lambda(\alpha, \beta)$ , then

$$(2.3) \quad |a_2| \leq \frac{2\alpha}{\sqrt{[(\beta+1)^2 + \alpha(\beta^2 - 2\beta + 2\lambda - 1) + 4\lambda(\lambda - \beta - 1)]}}$$

and

$$(2.4) \quad |a_3| \leq \frac{2\alpha}{(3\lambda - 2\beta - 1)} + \frac{4\alpha^2}{(2\lambda - \beta - 1)^2}.$$

*Proof.* We write the inequalities (2.1) and (2.2) as

$$(2.5) \quad \frac{z[f'(z)]^\lambda}{(1-\beta)f(z) + \beta zf'(z)} = [p(z)]^\alpha$$

and

$$(2.6) \quad \frac{w[g'(w)]^\lambda}{(1-\beta)g(w) + \beta wg'(w)} = [q(w)]^\alpha$$

respectively, where the functions  $p(z), q(w) \in \mathcal{P}$  and have the forms

$$p(z) = 1 + p_1z + p_2z^2 + p_3z^3 + \dots$$

and

$$q(w) = 1 + q_1w + q_2w^2 + q_3w^3 + \dots$$

Clearly,

$$[p(z)]^\alpha = 1 + \alpha p_1z + \left( \alpha p_2 + \frac{\alpha(\alpha-1)}{2} p_1^2 \right) z^2 + \dots$$

and

$$[q(w)]^\alpha = 1 + \alpha q_1w + \left( \alpha q_2 + \frac{\alpha(\alpha-1)}{2} q_1^2 \right) w^2 + \dots$$

Also

$$\frac{z[f'(z)]^\lambda}{(1-\beta)f(z) + \beta zf'(z)} = 1 + (2\lambda - \beta - 1)a_2z + [(2\lambda^2 + \beta^2 - 2\lambda\beta - 4\lambda + 2\beta + 1)a_2^2 + (3\lambda - 2\beta - 1)a_3]z^2 + \dots$$

and

$$\frac{w[g'(w)]^\lambda}{(1-\beta)g(w) + \beta wg'(w)} = 1 - (2\lambda - \beta - 1)a_2w + [(2\lambda^2 + \beta^2 - 2\lambda\beta + 2\lambda - 2\beta - 1)a_2^2 + (1 + 2\beta - 3\lambda)a_3]w^2 + \dots$$

Now equating the coefficients in (2.5) and (2.6), we have

$$(2.7) \quad (2\lambda - \beta - 1)a_2 = \alpha p_1,$$

$$(2.8) \quad (2\lambda^2 + \beta^2 - 2\lambda\beta - 4\lambda + 2\beta + 1)a_2^2 + (3\lambda - 1 - 2\beta)a_3 = \alpha p_2 + \frac{\alpha(\alpha - 1)}{2}p_1^2 ,$$

$$(2.9) \quad -(2\lambda - \beta - 1)a_2 = \alpha q_1 ,$$

$$(2.10) \quad (2\lambda^2 + \beta^2 - 2\lambda\beta + 2\lambda - 2\beta - 1)a_2^2 + (1 + 2\beta - 3\lambda)a_3 = \alpha q_2 + \frac{\alpha(\alpha - 1)}{2}q_1^2 .$$

From equations (2.7) and (2.9) we have

$$(2.11) \quad -p_1 = q_1$$

and

$$(2.12) \quad 2(2\lambda - \beta - 1)^2 a_2^2 = \alpha^2(p_1^2 + q_1^2) .$$

By adding equations (2.8) and (2.10), we get

$$(4\lambda^2 + 2\beta^2 - 4\lambda\beta - 2\lambda)a_2^2 = \alpha(p_2 + q_2) + \frac{\alpha(\alpha - 1)}{2}(p_1^2 + q_1^2) .$$

By using (2.12), we get

$$\begin{aligned} (4\lambda^2 + 2\beta^2 - 4\lambda\beta - 2\lambda)a_2^2 &= \alpha(p_2 + q_2) + \frac{\alpha(\alpha - 1)}{2} \left( \frac{2(2\lambda - \beta - 1)^2 a_2^2}{\alpha^2} \right) \\ \Rightarrow a_2^2 &= \frac{\alpha^2(p_2 + q_2)}{[(\beta + 1)^2 + \alpha(\beta^2 - 2\beta + 2\lambda - 1) + 4\lambda(\lambda - \beta - 1)]} . \end{aligned}$$

By applying Lemma 1.1 for  $p_2$  and  $q_2$  we have

$$|a_2| \leq \frac{2\alpha}{\sqrt{[(\beta + 1)^2 + \alpha(\beta^2 - 2\beta + 2\lambda - 1) + 4\lambda(\lambda - \beta - 1)]}} .$$

This is the bound on  $|a_2|$  as given in (2.3).

Now to find the bound on  $|a_3|$ , we subtract (2.10) from (2.8) then we have

$$(4\beta - 6\lambda + 2)a_2^2 + 2(3\lambda - 2\beta - 1)a_3 = \alpha(p_2 - q_2) + \frac{\alpha(\alpha - 1)}{2}(p_1^2 - q_1^2) .$$

From (2.11) we get  $p_1^2 = q_1^2$  and also using (2.12) we have

$$a_3 = \frac{\alpha(p_2 - q_2)}{2(3\lambda - 2\beta - 1)} + \frac{\alpha^2 p_1^2}{(2\lambda - \beta - 1)^2} .$$

Again by applying Lemma 1.1 for  $p_1$ ,  $p_2$  and  $q_2$  we get

$$|a_3| \leq \frac{2\alpha}{(3\lambda - 2\beta - 1)} + \frac{4\alpha^2}{(2\lambda - \beta - 1)^2} .$$

This is bound on  $|a_3|$  as given in (2.4). Which established the Theorem 2.1.

### 3 Coefficient estimates for the functions in the class $B_{\Sigma}(\lambda, \beta, \gamma)$

**Definition 3.1.** A function  $f$  given by (1.1) is in the class  $B_{\Sigma}(\lambda, \beta, \gamma)$  if it satisfies the following conditions :

$$f \in \Sigma ,$$

$$(3.1) \quad \Re \left( \frac{z[f'(z)]^{\lambda}}{(1-\beta)f(z) + \beta zf'(z)} \right) > \gamma$$

$$(3.2) \quad \text{and} \quad \Re \left( \frac{w[g'(w)]^{\lambda}}{(1-\beta)g(w) + \beta wg'(w)} \right) > \gamma ,$$

where  $z \in U$ ,  $w \in U$ ,  $0 \leq \gamma < 1$ ,  $0 \leq \beta < 1$ ,  $\lambda \geq 1$  and  $g$  is defined in (1.2).

The following coefficient estimate holds for bi-univalent functions in the class  $B_{\Sigma}(\lambda, \beta, \gamma)$ .

**Theorem 3.1.** If function  $f$  given by (1.1) is in the class  $B_{\Sigma}(\lambda, \beta, \gamma)$ , then

$$(3.3) \quad |a_2| \leq \sqrt{\frac{2(1-\gamma)}{\beta^2 + 2\lambda^2 - 2\lambda\beta - \lambda}}$$

and

$$(3.4) \quad |a_3| \leq \frac{2(1-\gamma)}{(3\lambda - 2\beta - 1)} + \frac{4(1-\gamma)^2}{(2\lambda - \beta - 1)^2}.$$

*Proof.* We write inequalities (3.1) and (3.2) as :

$$(3.5) \quad \frac{z[f'(z)]^{\lambda}}{(1-\beta)f(z) + \beta zf'(z)} = \gamma + (1-\gamma)p(z)$$

and

$$(3.6) \quad \frac{w[g'(w)]^{\lambda}}{(1-\beta)g(w) + \beta wg'(w)} = \gamma + (1-\gamma)q(w)$$

respectively.

Where  $p(z)$ ,  $q(w) \in \mathcal{P}$  and have the forms

$$p(z) = 1 + p_1z + p_2z^2 + p_3z^3 + \dots$$

and

$$q(w) = 1 + q_1w + q_2w^2 + q_3w^3 + \dots$$

Clearly,

$$\gamma + (1 - \gamma)p(z) = 1 + (1 - \gamma)p_1z + (1 - \gamma)p_2z^2 + \dots$$

and

$$\gamma + (1 - \gamma)q(w) = 1 + (1 - \gamma)q_1w + (1 - \gamma)q_2w^2 + \dots$$

Also

$$\frac{z[f'(z)]^\lambda}{(1 - \beta)f(z) + \beta zf'(z)} = 1 + (2\lambda - \beta - 1)a_2z + [(2\lambda^2 + \beta^2 - 2\lambda\beta - 4\lambda + 2\beta + 1)a_2^2 + (3\lambda - 2\beta - 1)a_3]z^2 + \dots$$

and

$$\frac{w[g'(w)]^\lambda}{(1 - \beta)g(w) + \beta wg'(w)} = 1 - (2\lambda - \beta - 1)a_2w + [(2\lambda^2 + \beta^2 - 2\lambda\beta + 2\lambda - 2\beta - 1)a_2^2 + (1 + 2\beta - 3\lambda)a_3]w^2 + \dots$$

Equating the coefficients in (3.5) and (3.6), we get

$$(3.7) \quad (2\lambda - \beta - 1)a_2 = (1 - \gamma)p_1,$$

$$(3.8) \quad (2\lambda^2 + \beta^2 - 2\lambda\beta - 4\lambda + 2\beta + 1)a_2^2 + (3\lambda - 2\beta - 1)a_3 = (1 - \gamma)p_2,$$

$$(3.9) \quad -(2\lambda - \beta - 1)a_2 = (1 - \gamma)q_1,$$

$$(3.10) \quad (2\lambda^2 + \beta^2 - 2\lambda\beta + 2\lambda - 2\beta - 1)a_2^2 + (2\beta - 3\lambda + 1)a_3 = (1 - \gamma)q_2.$$

From equations (3.7) and (3.9), we have

$$(3.11) \quad -p_1 = q_1$$

and

$$(3.12) \quad 2(2\lambda - \beta - 1)^2a_2^2 = (1 - \gamma)^2(p_1^2 + q_1^2).$$

Now, by adding equations (3.8) and (3.10), we get

$$(4\lambda^2 + 2\beta^2 - 4\lambda\beta - 2\lambda)a_2^2 = (1 - \gamma)(p_2 + q_2)$$

$$\Rightarrow |a_2| \leq \frac{(1 - \gamma)(|p_2| + |q_2|)}{2(2\lambda^2 + \beta^2 - 2\lambda\beta - \lambda)}.$$

Now by applying Lemma 1.1 for  $p_2$  and  $q_2$ , we have

$$|a_2| \leq \sqrt{\frac{2(1-\gamma)}{\beta^2 + 2\lambda^2 - 2\lambda\beta - \lambda}}.$$

Which is the bound on  $|a_2|$  as given in (3.3).

Next, in order to find the bound on  $|a_3|$ , by subtracting (3.10) from (3.8), we get

$$(4\beta - 6\lambda + 2)a_2^2 + (6\lambda - 4\beta - 2)a_3 = (1 - \gamma)(p_2 - q_2).$$

$$a_3 = \frac{(1 - \gamma)(p_2 - q_2)}{2(3\lambda - 2\beta - 1)} + a_2^2.$$

From (3.11), we get  $p_1^2 = q_1^2$  and also using (3.12) we have

$$a_3 = \frac{(1 - \gamma)(p_2 - q_2)}{2(3\lambda - 2\beta - 1)} + \frac{(1 - \gamma)^2 p_1^2}{(2\lambda - \beta - 1)^2}$$

Again applying Lemma 1.1 for  $p_1$ ,  $p_2$  and  $q_2$  we get

$$|a_3| \leq \frac{2(1 - \gamma)}{(3\lambda - 2\beta - 1)} + \frac{4(1 - \gamma)^2}{(2\lambda - \beta - 1)^2}.$$

This is bound on  $|a_3|$  as asserted in (3.4). Which established the Theorem 3.1.

**Remark.** By specializing the parameters we get the results which were established by [8] and [13].

**Acknowledgment.** Authors would like to thank the referees for their valuable comments and suggestions.

## References

- [1] K.O. Babalola, *On  $\lambda$ -pseudo-starlike functions*, J.Class Anal., 3(2), (2013), 137-147.
- [2] D.A. Brannan, J. Clunie, *Aspects of contemporary complex analysis*, Academic Press, New York London, (1980) .
- [3] D.A. Brannan, T.S. Taha, *On some classes of bi-univalent functions*, in: S.M. Mazhar, A. Hamoui, N.S. Faour(Eds.), *Mathematical Analysis and Its Applications*, Kuwait; February 18-21, 1985, in: KFAS Proceeding Series, Vol-3, Pergamon press, Elsevier Science Limited, Oxford , (1988), 53-60 ; See also *Studia Univ. Babe-Bolyai Math.*, 31(2), (1986), 70-77 .
- [4] P.L. Duren, *Univalent functions*, Grundlehren der Mathematischen Wissenschaften, Springer, New York, 259, (1983).
- [5] B.A. Frasin, M.K. Aouf, *New subclasses of bi-univalent functions*, Appl. Math. Lett., 24(9), (2011), 1569-1573.

- 
- [6] V.B. Girgaonkar, S.B. Joshi, P.P. Yadav, *Certain special subclasses of analytic function associated with bi-univalent functions*, Palest. J. Math., 6(2), (2017), 617-623.
- [7] J.M. Jahangiri, S.G. Hamidi, *Coefficient estimates for certain classes of bi-univalent functions*, Int. J. Math. Math. Sci., 2013(2013), Art.ID.190540, 4pp.
- [8] Santosh Joshi, Sayali Joshi, Haridas Pawar, *On some subclasses of bi-univalent functions associated with pseudo-starlike functions*, J. Egypt. Math. Soc., (2016), 1-4.
- [9] S.B. Joshi, H.H. Pawar, P.P. Yadav, *Coefficient estimates for certain subclasses of bi-univalent functions*, Anal. Uni. Oradea, Fasc. Mathematica, Tom XXIV(2017), Issue No.1, 163-170.
- [10] A.W. Kedzierawski, *Some remarks on bi-univalent functions*, Ann. Univ.Mariae Curie-Sktodowska Sect. A, 39 (1985), 77-81 (1988).
- [11] M. Lewin, *On a coefficient problem for bi-univalent functions*, Proc. Amer. Math. Soc., 18, (1967), 63-68.
- [12] X. -F. Li, A. -P. Wang, *Two new subclasses of bi-univalent functions*, Int. Math. Forum, 7 no. 29-32, (2012), 1495-1504.
- [13] G. Murugusundaramoorthy, N. Magesh, V. Prameela, *Coefficient Bounds for Certain Subclasses of Bi-Univalent Function*, Abstr. Appl. Anal. 2013, Art. ID 573017, 3 pp.
- [14] E. Netanyahu, *The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in  $|z| < 1$* , Arch. Rational Mech. Anal. 32, (1969), 100-112.
- [15] Ch. Pommerenke, *Univalent functions*, Vandenhoeck and Ruprecht, Gttingen, (1975).
- [16] H.M. Srivastava, A.K. Mishra, P. Gochhayat, *Certain subclasses of analytic and bi-univalent functions*, Appl. Math. Lett. 023, (2010), 1188-1192.
- [17] D.L.Tan, *Coefficient estimates for bi-univalent functions*, Chinese Ann. Math. Seri. A, 5 no. 5(1984), 559-568.